
Thursday 1st December 
LO: I can partition 2-digit numbers. 

11 15 

12 19 

14 17 

18 13 

10 10 

2 9 



Thursday 1st December 
LO: I can partition 2-digit numbers. 

10 + 7 =  20 + 8 =  

30 + 2 =  40 + 6 =  

40 + 4 =  50 + 0 =  

24 =    + 48 =    + 

36 =    + 50 =    + 

22 =    + 49 =    + 

30 =    + 29 =    + 

45 =    + 31 =    + 

20 8 



Thursday 1st December 
LO: I can partition 2-digit numbers. 

24 53 66 

80 19 27 

20 3  

11 =    + 64 =    + 

28 =    + 72 =    + 

36 =    + 83 =    + 

52 =    + 

55 =    + 

60 =    + 

87 =    + 

90 =    + 

99 =    + 


